[
sum
[EEN

1/o0 do/d[B"

=
<
BN

1073

107

Ratio to OPAL
[N

0.5

197 GeV ee

m OPAL
--G-- Herwig++ 2.6.0 default
--3-- Herwig 7.2.0 default

y*/Z (Hadronic)

Rivet 3.1.0, = 5.9M events

i‘\
I N —
— ~ —]
— ~ —
~
— NI —
— S —]
ENRN
— ~ —]
~
~
— N —
LN
SR
— < —
~,
~
— ~ —
~
SO
~
SINES
RN
RN
~
~
I N EE—
— NN —]
— S~ . —]
SO
— ~ S —
— Soos —
~
— NN —
~
— ~ —
~
~
SO
— N N —
IR
SO0
~
~
— N —
~ ~
~ ~
~ ~
~
~
T T T | T T T T T T
1 1 1 | 1 1 1 1 1 1

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


